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5| & | ®F | ant | wwm | @ ait | wEm | wEs | ast | TR [WER 02 gep lowie| zom | a5t | sg | BB | A
w8 | FEH
B 9 59 411 132 543 7 14 21| 13,085 513] 13,598 1,656,432 8,146] 9,468 368 4,805 14,641 2211 39| 2,250
~ 10 60 417 134 551 7 14 21| 13,115 484 13,509 1,665,088 8175 9,488 384 4,797| 14669 2231 36| 2,267
11 61 417 136 553 7 14 21| 13,144 515 13,659 1,754,247 8,668] 9,896 426 4,739] 15,061 2,156 39| 2,195
- 12 60 417 135 552 7 14 21| 13,128 517] 13,645 1,744,833 8,655 9,884 426 4,724] 15034] 1977 49| 2026
i 13 59 0 412 133 545 8 15 23] 12,995 530 13,525 1,742,379 8,581 9,864 426 4550 14,840] 2,137 51 2,188
P B3 0 6 2 8 0 0 0 51 0 51 6,510 15 15 0 0 15 51 0 51 H2.10.16
I} R 0 7 2 9 0 0 0 153 13 166 16,950 33 199 0 24 223 137 2 139 559.12.8
N R — B 0 6 2 8 0 0 0 38 0 38 9,690 17 64 0 0 64 13 0 13 S61.7.21
=] el 0 6 3 9 0 1 1 462 0 462 206 40 28 0 12 40 0 1 1 $31.12.25
+ # 0 8 3 11 0 0 0 762 0 762 40 0 68 0 0 68 0 1 1 S31.1.7
®_H B 0 13 3 16 0 0 0 120 0 120 130 18 18 0 0 18 11 0 11 54085
# x 0 5 2 7 0 0 0 33 0 33 33 9 9 0 0 9 0 1 1 S44.12.19
B T E 0 13 2 15 0 1 1 544 0 544 505 59 26 0 60 86 215 1 216 535.7.15
AR 7] 0 7 2 9 0 0 0 485 0 485 2,308 117 117 0 0 117 0 1 1 $31.12.3
£t X = 0 8 4 12 0 1 1 853 0 853 8,711 853 853 0 0 853 12 1 13 $32.10.15
A EmXF 0 5 3 8 0 0 0 664 0 664 1,453 362 229 0 133 362 41 0 41 S45.4.1
R s % — 0 11 2 13 0 2 2 126 2 128 7,744 88 78 0 10 88 95 2 97 54556.15
R s % — 0 10 2 12 0 2 2 183 0 183 14,731 237 236 0 1 237 58 2 60 54556.15
R s % =] 0 10 2 12 0 2 2 373 3 376 8,244 69 156 0 6 162 38 2 40 548.7.2
E 2] 0 8 2 10 0 0 0 579 0 579 457 154 6 0 148 154 0 1 1 S31.2.1
mE & k&I 0 7 3 10 0 0 0 455 0 455 1,021 0 12 0 65 77 0 0 0 533.4.15
2 3K (5 0 11 3 14 3 1 4 770 4 774 232,200 1.260] 1,180 0 54| 1,234 0 4 4 549.32
| 0 8 2 10 0 0 0 119 0 119 1,170 162 539 0 107 646 119 0 119 549.4.25
3t [im| 0 6 3 9 0 0 0 132 3 135 670 58 58 0 0 58 0 0 0 548.12.18
[ 0 9 2 11 0 0 0 95 0 95 4,750 172 150 0 22 172 95 0 95 553.5.25
= 7 &= 0 6 2 8 0 0 0 55 2 57 28,500 28 231 0 3 234 30 0 30 §57.6.17
5 [ 0 6 2 8 0 0 0 44 0 44 9,200 26 26 0 0 26 40 0 40 H1.10.24
7w H 5 0 6 2 8 0 0 0 41 0 41 6,150 8 8 0 0 8 41 0 41 H4.6.29
i £| 0 7 2 9 0 0 0 87 0 87 6,960 6 6 0 0 6 87 0 87 H6.3.23
£ 95 0 6 2 8 0 1 1 163 0 163 6,520 15 15 0 0 15 0 1 1 H7.10.3
= ;jl 0 5 1 6 0 0 0 64 1 65 7,260 47 47 0 0 47 0 0 0 H1.11.2
b= =3 1 0 5 1 6 0 0 0 56 0 56 6,210 48 48 0 0 48 0 0 0 H1.11.2
EH #h X 0 7 2 9 0 0 0 139 0 139 8,222 40 40 0 0 40 0 0 0 H1.11.2
s R 0 7 3 10 3 0 3 293 0 293 879 o 2105 o 2502] 4607 0 2 2 531.7.26
P AR | 0 7 3 10 0 1 1 217 47 264 21,120 386 95 0 291 386 2 2 4 533.8.18
R ﬁl 0 5 2 7 0 0 0 174 18 192 48,000 418 284 29 105 418 0 0 0 $51.12.10
] B 0 8 3 11 0 0 0 134 0 134 16,568 161 161 0 0 161 0 0 0 §526.17
& 7] 0 8 2 10 0 0 0 122 0 122 23,180 88 88 0 0 88 0 1 1 H7.8.11
- 7 & 0 5 2 7 0 0 0 311 0 311 870 387 184 0 203 387 0 0 0 $34.12.28
HE T B 0 8 3 11 0 0 0 170 1 171 1,703 79 79 0 0 79 0 1 1 530.6.23
2 0 5 2 7 0 0 0 16 15 31 576 49 49 0 0 49 0 0 0 538.2.15
[52 S 0 5 2 7 0 0 0 40 1 41 240 23 23 0 0 23 31 0 31 548.5.25
B # 0 7 2 9 0 0 0 103 0 103 23,920 346 68 0 278 346 0 1 1 560.5.22
o [ B 0 11 2 13 0 0 0 171 0 171 74,020 274 274 0 0 274 171 0 171 $61.7.10
BB B 0 5 2 7 0 0 0 143 3 146 3,800 17 17 0 0 17 0 0 0 550.10.8
[52 | 0 5 2 7 0 0 0 148 0 148 740 288 288 0 0 288 0 0 0 §50.12.11
H 4 @r EI 0 6 2 8 0 1 1 350 10 360 18,000 186 31 0 155 186 16 1 17 §52.11.1
+ B R 0 5 2 7 0 0 0 171 0 171 8,205 32 32 0 0 32 8 0 8 §52.7.18
T H_' EI 0 4 2 6 0 0 0 315 0 315 12,230 140 138 0 2 140 0 1 1 553.3.6
0 F 5 0 5 2 7 0 0 0 69 0 69 26,220 172 106 0 66 172 0 1 1 557.6.23
R &I 0 3 2 5 0 0 0 33 0 33 9,900 34 29 5 0 34 0 1 1 H5.8.25
B 2 I 0 7 2 9 0 0 0 107 0 107 820,690 72 72 0 0 72 13 1 14 H9.1.21
=] x 0 6 2 8 0 0 0 41 0 41 9,610 29 29 0 0 29 0 6 6 H11.1.13
BOE L m 0 5 2 7 0 0 0 130 1 131 87,770 409 408 0 1 409 114 2 116 H11.12.14
fi it} 0 8 3 11 0 0 0 183 0 183 9,407 328 321 0 7 328 0 1 1 $34.12.10
e TEB=7F 0 11 3 14 0 0 0 368 13 381 3,200 80 22 58 0 80 54 2 56 538.8.18
P IORG 0 7 2 9 0 0 0 318 0 318 9,540 0 0 179 0 179 318 0 318 546.4.1
X WL F # fm 5l 0 7 3 10 0 0 0 162 0 162 9,882 155 0 155 0 155 160 2 162 545.9.8
5 B Bzl 0 6 2 8 0 0 0 44 1 45 490 11 11 0 0 11 44 0 44 §55.4.7
E | 0 6 2 8 0 0 0 113 0 113 2,950 16 16 0 0 16 0 0 0 $56.3.16
A 0 10 2 12 0 0 0 114 0 114 12,540 41 41 0 0 41 112 2 114 H3.4.11
e [h 0 5 3 8 2 0 2 399 391 790 12,629 3 238 0 59 297 4 2 6 $29.6.19
i [= 0 5 2 7 0 1 1 168 1 169 62,470 180 193 0 0 193 7 1 8 $55.8.4
fomE| B K 0 8 2 10 0 1 1 222 0 222 14,485 236 0 0 236 236 0 1 1 535.6.23




